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Modele O a b c O0dO0e Of g h j K L Passage dair
CV56 1085 54 08 8 17 48 10 15 35 29 28 216 cm2
CVé63 121 61 08 90 17 48 14 15 4 32 31 26.4 cm?2
CVvT 1365 705 08 100 20 58 10 15 4 355 35 34 cm?2
cv8ao 4 75 08 10 25 58 14 15 4 395 40 45.3 cm2
Cv90 1745 85 1 135 30 58 16 15 4 45 46.5 57.4cm2
Cvi00 192 95 1 145 34 58 18 15 4 493 477 70.2 cm2
Cvil 2 2175 99 1 160 34 58 16 15 4 94 55 93.3cm2
CV132 255 N7 15 173 42 58 23 15 4 64 64 110 cm?2
CV160 307 136 15 205 46 68 25 2 4 695 65 152.2 cm?2
Ccvi80 345 15 218 52 68 35 2 4 n 65 181 cm?2
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